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Question Number : 1 Question Id : 9683555984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of water molecules 1s maxinuun in

%850 8 wmHe Hogy IVE° dotrow

(3



Options :

1.8 gram of water

1.8 (. %

18 gram of water

, x 18 (. Qo
18 moles of water
18 3 A
3. ¢
18 molecules of water.
4 % 18 e D%

Question Number : 2 Question Id : 9683555985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Isoelectronic species are

Sogy Ko ém‘r:g@:

CO,CN.NO". C.*

1.9 :

O O NOLC -
2. % :



CO".CN",NO".C

y
i)

CO, CN, NO, C,

Question Number : 3 Question Id : 9683555986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of d-orbitals will have electron density along the axes?

ETO J0L VHY Q@l'-:.;5 ol (ol DEW) o d - ©8\irey XDdimotron.

Options :

il
dz*, dxz
1. %

dxz, dvz
2. %

2 Y
z4, dx“-y”
3.9

dxv, dx? -1*
4.% '

Question Number : 4 Question Id : 9683555987 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Anideal gas expands isothermally from 10~ m? to 10’ at 300 K against a constant pressure of 10°Nar?,

The wotk done on the gasis

?86@_35 80 10°Nm 2 S8k 300 55 2 s.-atﬂtiﬁ;l e 10°m* Sood 107m’* §3BodNH

Options :

+270 KJ

1. %

-9007
2. ¢

+900 KJ

3. %

-900 KJ
4. %

Question Number : 5 Question Id : 9683555988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Invan der Waals’ equation of state for a non-idzal gas, the term that accounts for ntermolecular forces is

@dﬁééé i) oiS eSlussmoc® Bod a8’ K02 eodlmide &8 Sin

Options :
1. % (Nih)

2. % RT)”

;v @+aVd)



4« RT)

Question Number : 6 Question Id : 9683555989 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which substance is serving as a reducing agent in the following reaction?
145"+ €O +3Ni TH O-+2C ™ +3Ni™"

808 SKES® Q& EAOSEBAT SITR0E.

14H™ + Cr,0,* + 3Ni TH,O + 2Cr>* + 3Ni*

Options :
H—e—

1. %

" 2_
2. % CIEO?

H O

+
Fn

N1

Question Number : 7 Question Id : 9683555990 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Which compound will show the highest lattice energy?

~

Q HAYYE0 wEIRE DAY ero¥ EEI EYAWOLDRD



Options :

RbF

1. %

Question Number : 8 Question Id : 9683555991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which statement is wrong?
8ob 79S° K020

Options:

Berylis an example of cyclic silicate

Sodh 1ITeNDH TS &8 e

Mg,S10, 1s orthosilicate

Mg,Si0, &8 sTROBES

Basic structural unit in silicates 1s the S10 : tetrahedron.

20880 dTR)En Joth ﬁéﬁatﬁ@@dﬁa Si0, (@208 Aomge ADPAS™ S0,
3. %



Feldspars are not aluminosilicates

2O0) 05 verdodaho 2OZen =D
4. .y & (=¥ H =

Question Number : 9 Question Id : 9683555992 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lassaigne’s test is used in qualitative analysis to detect

-

e s HZ0ed” D @D;E:Oﬁ?%)& TR0 D0F BdTrHtd0d.
Nt

Options :
Nitrogen

& ._—-5

=
[l | ot
—

EJI]

All of these
@5&3}8)?&1}
w

Question Number : 10 Question Id : 9683555993 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which non reducing sugar among the following is
Bob TRS° abEBes SEY PO

Options :

Maltose

S5

-

1. % ¥

Malt sugar

M

§ S5 b
2, '

&

Cane sugar

38 b

3.¢

Grape sugar

Svlgle]

-

0

e

4, %

Question Number : 11 Question Id : 9683555994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which of the following is not a comumon component of photochemical smog?

800 aPRS° DO TeHE0H ADHDHOS® grifn D
Options :

Ozone



Acrolein

i DS

2

Peroxyacetyl nitrate

T8 QRBS IS
3. %

Chlorofluorocarbons

T T =Gp
4.

Question Number : 12 Question Id : 9683555995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ametal crystallises with a face-centred cubic lattice. The edge of the unit cell 5408 pm. The diameter ofthe
metal atomis

ofmRé5 6 oih 408 pm o SwpS0GE e eo8R $)888006" & 8o w550
00 &5 HYmend) S0t

Options:

- 288 pm

408 pm
2. %

144 pm
3. %

204 pm
4. %



Question Number : 13 Question Id : 9683555996 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the maximum number of arbitals that can be identified with the following quantum numbers?
(@=3, 1=1,m=0)

2 old sroto éosgaeaeﬁa KBoHOR 1B g0 dogy? (0=3, 1=1,m=0)

Options :

Question Number : 14 Question Id : 9683555997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s most reactive towards electrophilic reagent?
8ob 'ﬁ:ﬁ”@éﬁ“-l B DO 9O @@-@?&@E 880 STR0E.
L= '

Options :



CH,

- OH
NHCOCH,
3. % '
CH,
CH,OH
4. &

Question Number : 15 Question Id : 9683555998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following substance is a biodegradable polyvmer?
Bob &S BradPorr DYPHo O FOHE HO?

Options :
Polythene

% POHI

PVC

Bakalite

DEBES
3. % e



PHBV

o M
o) el oe &)

Question Number : 16 Question Id : 9683555999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a fat soluble vitamin?

& (800 DLODTOS® FHGE 81O

Options :
Vitamin B complex
A
1. ¢ g)@&@ﬁ =
Viatmin D
D - &
Viatmin E
DL - I
3. %

Viatmin A

DEHI - @

4. %

Question Number : 17 Question Id : 9683556000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Hydrolysis of proteins give

(Er8Se a0 DBHES® DHTD

o
Options :

' Alpha - amino acids only

8500 e ¢ - oI wlipen

1.¢
Beta - amino acids only
5500 der - DT esdipen
2. ®

Gama - amino acids only

SO0 MUIP— BFDR° aIT°eD

3. %
mixture ofi.e., alpha, Beta. Gama-amino acids
eder, Qer, MPEr - T wire Swond
4. % |

Question Number : 18 Question Id : 9683556001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Anemia is caused by the deficiency of vitamin

D DONS %50 HoP Nl (BEFIS) =5 Seorh.

Options :
B

1.% 1



Question Number : 19 Question Id : 9683556002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Which of the following will show optical isomerism
Bod T&S° DO Gydes e TR E@0R00.

Options :
" [Cu(NH,),]*

1. %

[ZnCl1,J*

[Cr(C,0 4)3]3'

3.

[Co(CN), >
4, %

Question Number : 20 Question Id : 9683556003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The reaction of toluene with CL, in presence of FeCl, predommantly, produces
EPOR FeCl, 55508 $088° S5 T0RRH HOgore DE)E Serges

Options :
Benzoyl chloride

Dowrond 588

Benzyl chloride
DoRS B8
2. ® '

o- and p-chlorotoluene

0- 50w P- £5%5*O0T

3.¢

m-chlorotoluene

m - gjmﬁﬁaﬁ

4. %

Question Number : 21 Question Id : 9683556004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the following sequence of reactions,

CH,CH,OH 22 , 4 M ,p HCHO .~ H)0 ,p

The compound D 13

B0% %) S SERE® e D Slagels

CH,CH,OH— 2 5 4. M g HOHO o W0

Options :

Butanal

aTerdyre
1. ® =

n-butyl alcohol

n- 2085 senFd
o ing T

n-propyl alcohol
n- (@6 euitS

3. %

Propanal

Question Number : 22 Question Id : 9683556005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



C,HOH — 2> CH CHOLCC@CHO

In this reaction the role of CL, mn step-1 and step-2 respectively

C,HyOH — 2 CH,CHO— 2~ CCI,CHO

= Eﬁéé@s step -1 005w step -2 ©& Cl, %) ar(@ SGOImP
Options :

Oxadation. chlorination

s8)8580, 52005580

Oxidation. addition

¥ o880, O8G0

2. &

Reduction. chlorination

@%}ééma, Rosedo

Reduction. substitution

. Bonssmo, ©8ge
4.

Question Number : 23 Question Id : 9683556006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



List-I List-IT

(Noble gas) (Use)
D% - 1 5% - TI
i) Helium 1) Treatment of cancer
S350 525650 S0 BSHrR8
11) Neon 2) Beacon lights
QeS TS Baren
111) Krypton 3) Mining cap lamps
EarS KR =Bbe &2 peye
1v) Radon 4) Cryogenic liquids
i) BToresE (5558w
Options :
-4 §i-2  iii -3 iv-1
1. %
i-3  ii-2 iii -4 iv-1
2. %
-2 ii-3 i -4 iv-1
3.v
-1 7i-2  dii -3 iv-4
4, %

Question Number : 24 Question Id : 9683556007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the followimng amine will give the carbylanune test?

& 8od AE° 20 S T HOY vihD

T

Options :



Aniline

=
1 IO

N-methylaniline
N - 36 9D
2. %
N.N-dimethylaniline
N,N-Z3S @D

N-ethylaniline

N - 535 0205
4, ®

Question Number : 25 Question Id : 9683556008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following substance 1s added to soap to make it antiseptic
) émgmm ﬁ%éj‘éo SEDEVINES) ) cﬁwoéﬂ?o%_ggrw QBB
Options:
[odine
O@rES

1. %

KMnO,

SeerRAD0 TN
2, %



Bithionol

. v DG@rSS

CL

503
4, %
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Section Id : 96835581
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Enable Mark as Answered Mark for Review and
Clear Response: ves
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Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 9683556009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The number of significant figures i 0.0036007 1s

0.0036007¢5° augs oo Vo Joes



Options :

Question Number : 27 Question Id : 9683556010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The above figure represents a posttion- time graph for an object 1 motion whose

acceleration 1s
& §oB DocsRdod 68) i) ey Tgoto TV PR AFPod,

508 & SROig) Av8), (60

x(cm)
i

()

> 3 6 5 T
t(sec)

Options :

1.4



positive

Cﬁa’ei‘éééa

negative

ams'avejés::
2. %

constant

DGo
o)

Question Number : 28 Question Id : 9683556011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Train A moves north with a speed of 36 kni™ and train B moves south with a speed
of 54 knl™ on two parallel rail tracks run and south directions respectively. Then

the relative velocty of tram B with respect to tram A 1s
ot %iirodd Jendepe oS 85 A 36 kuh-1 Sfoff exiore sudat e

B Sdknh” Stiod csdm %S Schousbrmyan . i)y G A iore Geu B

0308 Fog Do

Options:

1. %



50ms™!

1
, x 20ms

|
5 % Oms

-1
-25ms
4.

Question Number : 29 Question Id : 9683556012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Out of the following which of the pair of vectors A and B are equal

& 400 33" D 38 VAP DOFVRATPDO

Options :

1. %



Question Number : 30 Question Id : 9683556013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The maximum horizontal distance travelled by a projectile from its wmitial position
x =y =0 to the fmal position y = 0 durmg 1ts fall 15 given by
28 DEo D5 00008 ot o 1 = 1= 0o v = ) S Do

divakood atrelod 10y 48 Ripedd Pt dod
Options:

. Vo Smb/g



. y
Vo SecB/g

Question Number : 31 Question Id : 9683556014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given that P = 21+4j+14k and Q = 41+4+10k, then the magnitude P+ Q 1s
P=2i4j+14k svdaty Q= 4i++10k adysiandd, P+Q H0imo

Options :

46

1. %

Question Number : 32 Question Id : 9683556015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A man 15 standing 1n a stationary bus, 1f the bus starts suddenly then

8 918 VY00 LRNG’ doed GO, LR BEFY A Foosd
Options :

He 1s pulled forward

Q930 AWOGIE & OGP



He will be in same position

9eH) €93 ?ge':ae_‘i‘s €0
2. B :

He 1s thrown backward

e9e9) DIVEL & ADLIETTED

3.¢

He 1s pushed back and tforth

i 2963500 A VOGDE), DAES) 2)%)33(;‘.@@
4.

Question Number : 33 Question Id : 9683556016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The dimensional formula of static friction 1s
RDOAE ges GIE), oD &méeﬁ
@ 2
Options :
PSP
.« ML'T
o I
, v ML'T

Iy 21
L« MILT

A rly 2-2
,« M'LT



Question Number : 34 Question Id : 9683556017 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
One Calorie (1 Cal.) =

0E Sd =
Options:

« 16X 107

. 36 x107°7]

L. 26x1077

L 418617

Question Number : 35 Question Id : 9683556018 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The amount of energy released when one kg of coal 1s burnt

28 88" EHR A00dodd YD DedE 33 A0, DOAPEIID
Options :

%3 %107

, v 2.6 x10']



4 %1077

3. %

o 3x107]

Question Number : 36 Question Id : 9683556019 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The motion of a cylinder which 1s allowed to fall from the top to bottom of

an inclmed abody 1s

2,6 TP 90 DK FY AN AP0 ahog), o
Options :

rotational and circular
|, B00m B0 ByErses

rotational and eravitational

&0 O3 LT SEEs
2. % ad

oravitational and translational

DHEOT(EGE? O35 FSoedS
3 ® = @

rotational and translational

235069 SOALD PTPoesS
4.« =~ @

Question Number : 37 Question Id : 9683556020 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
- According to Kepler's laws of planetary motion, the relatton between the orbital pertod

of the planet ‘T and the raduus of the orbit' R'1s

306 fericon dabidre geido, S8 0o T ok €5 amjrdoR st dowogio

Options :

Question Number : 38 Question Id : 9683556021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In the stress versus stran curve of a metal grven below, the pomt B represents
BrDid iyl gor 2pdo HEIRAD 6o 08 B0 - A PR

Arrnod. Do) BB mrcdinod

Options :

proportional limit

|k ORVTPS 9D

yield point

&30 Do
2. @

tfracture point

DB\ Dot
3. %

elastic lLimat

RAFDE Do)

4, % 3

Question Number : 39 Question Id : 9683556022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
- Reynold's number ‘Re of a turbulent fluid of density’p” moving with a velocity v’
through a pipe of length 'd' 1s

8 opsGugido, o psdn 'viried, P 0 €O piy T Hidizod)
EONSTN) 8@&5 003 o3 7

Options :

pvn
1. % d

pnd

Question Number : 40 Question Id : 9683556023 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about Carnot’s engine 1s wrong

0% 6 02 (980D & S0 HELVVES” DB By

Options :

1. %



It 1s a reversible engine.

QO €:¢3) 6303 (8HByeES5) aSogo

Its efficiency 1s independent of working substance.

D 0G0 DD B ::Jangohm IS DEED

2. % )
Its efficiency, n=1--—=>
I,
g
> Frado, 7 =1-—=
&
3. % 1
None
JD TP
4.v

Question Number : 41 Question Id : 9683556024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The molar specific heat at constant volume ‘C;’ for a monoatomic gas 1s
2000 DORPIR0 3 D6 DOSPRS T G0, Arerb DI 6

Options:



w | B | W

po |~

Question Number : 42 Question Id : 9683556025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The optictan prescribes Sita, a corrective lens of power +1 Diopter. then she requires

8 R0 D30 +1 EARH0 $BAY SUTOR AL AR, B B0

IO === SNV

Options :
convex

_— =SleTAui=tle]

concave

| DTS



convex and concave

- S002P5°0 a0 HeFseO

11011€

D) B2

4, %

Question Number : 43 Question Id : 9683556026 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a beam of white light s allowed to pass through a prism, then the phenomenon

of splittmg of light 1n to 1ts component colours 15 known as
2,8 Do (Dot BYR) Tod HIHBOL  YEF OB T

GorbeurP DD 0N -+~ otrd)
Options :

imterference

&’stefaétﬁeao
1. %

diffraction

4 Pelelle
2. % =

polarisation

, OO



dispersion

4 v DEDE

Question Number : 44 Question Id : 9683556027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

LASER means
LASEResST™

Options :

Light stimulation of amplified emission radiation

DB L6 ISBero CIE), SPoB HBE?

1. %

Light amplified by the radiation stimulation emission

BAADND ?gm56a5 GLIOPD T(0° 570 DR00LIIG R
2. %

Light amplification by stimulated radiation emission

. G32S BELADAD GLPTPL TP(T° BP08 DYBED

Light amplification by stimulated emission of radiation

BADND G3E), EDRS ST TCO° 5°0d DRYE?
4.9 = 0 =

Question Number : 45 Question Id : 9683556028 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At the stopping potential, the potential required for the photosensitive plate to brng the

photocurrent to zero 15
OB SR Rozrasged 98, TENED H 108 ey arirody i)

SROGIE3 s ABEs Fedabs

Options :

positive

C;’Ja"ei’éé’éc

negative

2EFBY S0
2. %

high

DED) D
5% 00

low

L. B

Question Number : 46 Question Id : 9683556029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The de Broglie wavelength ‘A" of an electron when accelerated through a potential

difference of 25 volts 15
33 o] P[0 T fdodlo LAVRYYD DUgB ), ¢

00riRd 0 ")

)

Options :

- 0.245 nm

- 0.245m

- 0.25nm

4% 025cm

Question Number : 47 Question Id : 9683556030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[f mand e are the mass and charge of an electron then Bohr's radius 1s

m 00805 e T g o3 wdad &§ wand, 6 Rro

Options :

f?‘ez E;

mir

2
h me,

2

,x e



h’e

I
2
mmT e
\‘.j;?
.
h-e“mel
4. % z

Question Number : 48 Question Id : 9683556031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a transistor 15 used 1 1ts saturation state, 1t acts as
PN TR oy DAY EOARADNYYE, B BeP DAF0B

Options:

amplitier

Cﬁsabﬁgo
1. % -

switch

) “}5‘5

2.4
open circuit
R D), 6&5

3. %

4, ®



closed circut

gcg, ‘fbdﬁbéé

Question Number : 49 Question Id : 9683556032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a p-type semiconductor the mumber of electrons n. and the number of holes m, present

m such a way that

05 gTrSed D Roae 0001 oo Hop) . & Dformeiobiod

Options :

1@ Np-=~ 1e

5 % ) P 1
. << 1Ne
. ny— 1.

Question Number : 50 Question Id : 9683556033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

235 1 144 89 0
LU +,n o Ba M+ K +3 0 represents

235 1 144 89 1 v Y
pU™ N o g Ba e K™ +3 0" & 6 3 Rorcdipodd



Options :

Nuclear reaction

Sogs €56y
1. %

Nuclear fission

éﬂ@g waeg
v ;

2.

Nuclear fusion

- Sogé 2090

Nuclear decay

Sogs Seaech
4. %
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Sub-Section Id : 968355106

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9683556034 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process by which multiple copies of gene of interest is synthesize invitro by using
two sets of primers is know as

23308 (0 22000559 B30E) aT0F Taen DOCH L | 20O
&ITPA0DRE0 500 AL D03 B HEAD.

Options :
PCR

| @ eSO

Gel electrophoresis

. 26 IBFTHTIV

DNA finger printing
DNA 330 30(&5€d

Western Blotting
. SlE® &¢e3oh

Question Number : 52 Question Id : 9683556035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Red biotechnology 1s applied to
6 AT RIT) 028 DESE HB0IDER0E



Options :
Agricultural processes

. 0 O ||IBChen

1.
Medical processes
S v 25 1DBew

Agricultural processes and Medical processes

3350380709 (DEANED O TS (DEAHEN

3. %

Industrial processes

4 x PO (DB AHew

Question Number : 53 Question Id : 9683556036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ELISA test is used to test

ELISA H8E D080t 08 esdA3rR020e0E
Options:

AIDS
- NIOWIH
Viral Hepatitis

, % DO THWEID



Tuberculosis Cysticercosis
§ 00sS DIT D0

All of these

» wblm&s“m

Question Number : 54 Question Id : 9683556037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s implant?

806 a¢36T DE ROV 0E OO

Options :
Pace maker

L 20080

1.

Medical laser

DEES B

Oxygenator

3832300

PET Scanning

PET .00

Question Number : 55 Question Id : 9683556038 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is not a restriction endonuclease?

2808 ¢3¢ DA DB NOESTSEOR

Options :
Eco RI

1. %

HindIII

3 % Pstl

DNase
4. &

Question Number : 56 Question Id : 9683556039 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Father of Indian green revolution
20565 5305 Daded DTN IVCH

Options :

N.E. Borlaug

N.E. 5°0°h

M.S. Swaminathan

M.S. & 5D

2. ¢

V. Kureian

V. 50800



William Gaud
4 % DOOHO K&

Question Number : 57 Question Id : 9683556040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A transgenic food crop which helps in solving the problem of night-blind ness in
developing countries 13

98)539D DO, BFOS T 9056 50 MBNE) e
H0360G0E QsFODNT 200570 B €355 H0E)

Options :

Golden rice
FSS B0
Le B

PIHVI' saver tomatoes

ﬂ i i

i} 2090 09D EyIEFTEeN
2. o)

Bt-Soyabean
£)e3-F DS

Basmati

. 23°0) €3

Question Number : 58 Question Id : 9683556041 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The first mammal clone “Dolly” was created by
SO § 5% §&S "O" HR0DIE
Options :
Gregor Mendel
% 010 DOTS
Thomas king

DD 80N

Robert Briggs

o"22Q (DA

[an Wilmut
f v BATQ DENYE

Question Number : 59 Question Id : 9683556042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Bird flu caused by

208 3 eI HOS FenHeod

Options :
Protozoan

S S

1. %



Bacteria

L« 28008y

Virus
IalerS)

3.¢

Helminth

20

Question Number : 60 Question Id : 9683556043 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Mule is an example of
Qs D 2,8 GO
Options :

inbreeding

DO €8 )63

Outbreeding
DOIE 600

Cross breeding

e taletely

3. %

Interspecific-hvbridization

E

y 10858 90e5865-372)TBZAD



Question Number : 61 Question Id : 9683556044 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Cod liver oil 1s rich in
58 OD0 BONO DY DT BOLNOE
Options :
Vitamin B

AT APV I,

Vitamin K

FATARVIN S

Vitamin A and D

DEIDM o) B &

Vitamin C

L DEDS D

Question Number : 62 Question Id : 9683556045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Physical. psychomotor and mental development is retarded in and individual affected
with

68 5600 UL, SIS SO0 STSe 5D KBy &58ied
D2FAB0S DO

Options:



Down’s syndrome

- FS VOG0

Sickle cell anaemia

2ES DO @D

Tumer’s blindness

€3 0 ABE) @0 50

Colour blindness

S0 @0 50
4, %

Question Number : 63 Question Id : 9683556046 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What will be possible blood group in children from the parents B and AB blood
group?

S$EOA0[e0 B s0BAIN AB 26 (15 10 D00 26 (X5 26
e HE00!

Options:
.6 A0

, » A, B.ABand O

., AB.AB

B.O



Question Number : 64 Question Id : 9683556047 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. How many different types of gametes can be formed by F1 progeny resulting from the
following cross AA BB CC X aabb cc

806 |50 AA BB CC X aa bb cc )OS0 F1 OTF0 5T D) G50
TR0 O ) Er0n

Options :

64

Question Number : 65 Question Id : 9683556048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Binomial Nomenclature was introduced by
A 8N DeNEBEI0 (D3F DEI0H
Options :
de Vries

& (DD



Carolus Linnaeus

5800 OFT) 0N

Prantl
@ro®

Benthem & Hooker
230380 & 030

Question Number : 66 Question Id : 9683556049 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Scrapie disease is caused by
(@722 56 550388 EeniHEOE
Options :
Bacteria

28605

Virion
DO

2. %

Prion
3. ¢ (DOSF

Mycoplasma
DET

4. %



Question Number : 67 Question Id : 9683556050 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will cause bioluminescence?
80A ¢35 DA DOIFENDAR V)50 T HEee)E0E?

Options :
Planaria

T ROAS®

Ctenoplana
5 i r
ACATNEVEN]

Planula
NV

Obelia
2,230 A5

Question Number : 68 Question Id : 9683556051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Filariasis 1s caused by

2DBOOITVR E3 5 DO

Options :



Ascaris
| % @700

Plasmodium
- TP 1GBODO
Wucherreria

v DTOOOY

Diplococcus

AL

4, %

Question Number : 69 Question Id : 9683556052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Minamata disease is caused by contamination of

AN a7 5E FENNHO TP 0 3 O

Options :

Hg
1.¢

, Pb

Cd

As



Question Number : 70 Question Id : 9683556053 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In clean water the concentration of
D LIRS DeE3eS mrched
Options:
BOD is low but DO 1is high
BOD ¢6350,65 5°%0) DO 30,85

1. %

Both BOD and DO are high
BOD s08030 DO Dochr @OH30

BOD is high but DO is low
BOD 230,63 5°0 DO ¢680),.6

Both BOD and DO are low
BOD 508050 DO DO €680),09

Question Number : 71 Question Id : 9683556054 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Eustele is characteristic stele of

OHF RS BwE) OE 0 VS

Options :

1.4



Dicot stem

AR{aL> $)23 SO0

Monocot stem

DESeY 2)23 5200
2. #

Monocot root

. DER)23 DK

3.

Dicot root

B 85$D23 3K

4,

Question Number : 72 Question Id : 9683556055 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Amino acid which play an important role in nitrogen metabolism 1s

169230 BHEONS’ 2) B’ 3600 SAMRFD a5 N0

Options:
Tryptophan

TAIVENRN

Methionine

L DOTIS

Glutamic acid

AEras e8e0
3. & ~



Phenyl alanine

4 DDO O[S

Question Number : 73 Question Id : 9683556056 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

During complete metabolism of glucose, the number of ATP formed as net gain

(%2 3R0E), 370 B8 NeaDOES, AEG erSom D813 ATP H08;

Options:

Question Number : 74 Question Id : 9683556057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
. Which one of the following is essential for photolysis of water?
Q3 OV FEEL oA 73S’ DA e95IB0?
Options :
Manganese

| v POV



Zinc

2205

Copper
o

Boron

4 % ?SSD_“{E

Question Number : 75 Question Id : 9683556058 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
. DNA is synthesized in which stage of inter phase
AR R0EID BFS &) B3ET HOBNE DADRBOE

Options :
Gl

Question Number : 76 Question Id : 9683556059 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most abundant protein in animals 1s
& v
2206505906 e9essOZOTT &2 |9e3S S0EN0E

Options :
RUBISCO

1. %

Haemoglobin

, % DS

Collagen

=
3 ¢ SEED

Tubulin

5520
4, %

Question Number : 77 Question Id : 9683556060 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Largest endocrine gland is
930D VOB ZS K0d

Options :

Adrenal gland
O BID (HoH

1. %



Thyroid gland
njexeW ) alele
2. = :

Thymus

B0
3. %

Kidney
85

4. %

Question Number : 78 Question Id : 9683556061 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Both male and female have same number of chromosomes in

BN B svarFen aQEr 2.8 HowsS FSrS o §OA
elO]AROV

Options :
XX-XY type
o XXXY 880
XX-XO type
, x XX-XO &80

LZ-70 type
ZZ-7Z0 3380



Honey bees

S3e3en

Question Number : 79 Question Id : 9683556062 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Neo-Darwinism 15
QO3°-23°0 §0230
Options :

Population theory

| % B0 APTOB0

Natural selection theory

Qod*23 0)0S VD0EH0

Modern nutation theory

SENAE FATHS VPTOHO

Modern synthetic theory

e8NS ©9053°23 V00

Question Number : 80 Question Id : 9683556063 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following 1s considered closest to man?
806 T3S DO HINE 955068 ) SFERAT HOFES0IREN0E?
Options:

Gortilla

pYelay

Gibbon
5, % 02D

Chimpanzee

DOT02S
3.

Monkey
g3

4, %

Question Number : 81 Question Id : 9683556064 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
. The largest herbarium of the world is at
100025063 @63 D *0)YBCHO SO
Options:
Kew. England

, 8ocs. @00 &
1 Ty 2) e

Kew. France

80°5. (307

2. %



Kew. America

s x 905 OO
Kew. India
4% 505 ROBASY

Question Number : 82 Question Id : 9683556065 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following pteridophytes is used as Biofertilizer?
808 e3¢ & VOE DL 2T DIS2OT SHBrATED?
Options :
Azolla
v OB
Marsilea

, % 00"0)OA”

Equisetum

&8 £OED

Salvinia

o) L QA
4, %



Question Number : 83 Question Id : 9683556066 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In gymnosperms endosperm is formed

23030205 DOE N0 DEIEER0E.

Options :
After fertilization

L x DOOESE0 S

After the development of embryo

D00 ©92)H) B edoeeh

Before fertilization
DOAEBI0 SO

At the time of fertilization

v i AL &
4 % DOOESE HHANOES

Question Number : 84 Question Id : 9683556067 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
. Find out the mismatch pair
QOO 236520 S0 G
Options :
Carrageen-red algae

028 S-0) 3



Algin-brown algae

SOS12TS &3S

Agar- Chliorella
, , ©5-STET
Single cell protein- Spirulina
2005 S £8¢3S- DB O

Question Number : 85 Question Id : 9683556068 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Weight of adult human liver is
SO 8337969 OO B3NEY. DY
Options :
2200 to 2500 gms

2200 cOOEG 2500 (M0 eN

2270 gms

2270 [TT00e0
2. %

120 to 150 gms

120 c00EG 150 [[TPo0eN

4.+



1to1.3kg

1 0B 1.3 8Sen

Question Number : 86 Question Id : 9683556069 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Deficiency of iodine leads to
OBFAS D0 TBSBNOE
Options:

Goitre

_, oo ®

Muscle cramps
, Sosore 30020

2.
Rickets
. 88E)
Anaemia

. B8 ar5ed

Question Number : 87 Question Id : 9683556070 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Haemoglobin has maximum affinity for

TSN 2)SEY 588 9:02)050 Eod
Options :

| CO

Question Number : 88 Question Id : 9683556071 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The morphological and physiological unit of vertebrates” kidney 1s
SA0LTR ST SDOTTO ALY DANTe OGN FOGE ONTRED
Options :

Ureter

AS0VED

1. %

Nephron

20 DRI

Seminiferous tubules

DA RO FETen



Urmiferous tubules

ONTBANGD FETen
4. %

Question Number : 89 Question Id : 9683556072 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
First national park of India is

2 SEHTIF ) BNCHES 23230 SIS0

Options :

Kanha national park

S 230 ar),

Periyar national park

280578 22305 >,

Corbett national park

$B)E 237300 KDY,

Bandipur national park

205D 230D Ty,

Question Number : 90 Question Id : 9683556073 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. An example of ex situ conservation is
D5 RED NOBE 250 2.8 SO
Options:
Sacred grove
e OASDS SE
National Park

5 2305 VCTRLTNININT®)

Seed bank

3 v 0 2508

Wildlife sanctuary

SINE(TEN @ I OISO
4. %

Question Number : 91 Question Id : 9683556074 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
In fishes the cranial nerves are
BIOET e SENEN EOLTOM
Options :

6 pairs

1. W’ 6 8\3?‘_%'?_)

8 pairs

8 23650
2. %



10 pairs

3 ¢ 10 23650

12 pairs

12 2365

Question Number : 92 Question Id : 9683556075 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
. In Turmeric underground stem is a
HNET NS 00
Options:
Corm

507

Phylloclade
S35

Rhizome

3SR
3. %

Cladode
ST

Question Number : 93 Question Id : 9683556076 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Scape 1s found in
02D E0FRNDR0H
Options :
Potato

R AlCI A AVIORY

Asparagus
EPVRIOOTN
2. ¥
Colocasia

£y 50"

Allium
DIDOVISY

4. %

Question Number : 94 Question Id : 9683556077 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In coconut
§2)0¢
Options :
Mesocarp is fibrous

o5 DO TG0 D2 OO



Endosperm is edible

L D002 BIBBIE

Mesocarp is edible
. 05 H TIBRO €35aIT )

3.

Both Mesocarp is fibrous and Endosperm is edible

\ 05 D 5820 DIV GOA BN JOE D2 BSAIE

Question Number : 95 Question Id : 9683556078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Pelvic girdle of man consists of
D C30E), 8e3 5e>a0 EDF 50LNOE
Options:
[lium. 1schium and pubis

QEANO, JPON0 OGN P2

1.4

Tium. ischium and scapula

, % AOADO, YACHO HBAI Oy Yer

Tlium, clavicle and scapula

OO0, TNED HOA HY e

3. %

4. %



Coracoid, clavicle and scapula

$0"5 NG, SDES DB DY)

Question Number : 96 Question Id : 9683556079 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The wax glands in honey bee are found in
Be3ES DSy 150G0eN QT AN
Options :

Drone

ke BS
Worker
, o OO0
Queen
3 % §£5

Worker and Queen

5535 0B §5S

4, #

Question Number : 97 Question Id : 9683556080 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the cat fish from the following
806 5¢3¢Y 52565 DR A DOTHE OB
Options:

Catla Catla

VOB SVA

Wallago attu
, ¢ TN Y

Labeo rohita
, x PO Oored

Currhinus mrigal

DOV NYND

Question Number : 98 Question Id : 9683556081 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cross between TT X tt parents is called

TT x tt $S0CHO DAS (57 ©0eFrSd
Options :
Trihybrid cross
e (BTRGED

Dihybrid cross

L BB (50



Back cross

25°55 (57

Monohybrid cross

IS TG (50

Question Number : 99 Question Id : 9683556082 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The pH of human urine is approximately
cAI°0d6d s €50 O3NS pH eI 50EN00

Options :
6.5

1. %

Ty
hn

Question Number : 100 Question Id : 9683556083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Purkinje cells are found in
282023 Zegrex) EQD"OW
Options :

Neopallium

- MleWirsdlewe)

Corpus Straitum
5, % SOYQ (QATE0

Cerebellar cortex

3 v OOBY"0 5°08)

Medulla oblongata
4 % DT 33 Oy



